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1 Evaluate the given integrals. '
(o) [ysinlzdz=__ .  (b) fCtePdt=__
2 () lm (V¥ FaoFi—(z+1))=cthena=__
(b) If lim f(z)= lm f{e]=0 ar_td Jlim f"(z) = g, then Lm of(t/vz)=____ .
'3 If the function f is defined by f(=, yj = —zye~ & H)/2,
{a) The saddle poiat of fis . {b} The local minimumof fis
4 Perform the foliowing differentiations. |
(2) &in"a")= O &R A= —
5 Evaluate the following infegrals.

O BT e ) i dyde =
(b) Jp 2oydz + (2 + )y =,
where C is the circular arc given by & = cost, y=sint (0<¢<7/2)
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6 (a) The interval of the convergence of the serieg Z: is

(b) Let = be the degree of the Taylor polynomial centered at 1l reqmred to approximate
f{s;) = ¢%, z € {0, 2] to an accuracy of +0, 001, thenn=__
7 (a) A spherical balloon is expandmg If the radius is increasing at the rate of 2 inches
per minute, at what rate is the volure increasing when the radius is 5 inches?
(b) Let V be the dimensions of the 'recta.ngulg.r pa(;,kage of ‘largest volume subject to
" the sum of the length and the glrth(E@} cannﬁt exceed 108 inches, then V = m___l
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8 True or false? Justify your ANSWErs,

(@) X (2) < g(e) then Jizs () < limg(s).

(b) lim{f(z) + g(z)] can exist even if lim f(z) and fimg(z) do not exist. | é:i]

9 Sketch the gra.ph of the function f{x) = 355/® — 32273, | %‘
© [ esin(l/z), o 0 | |

(a} Let f(z) = { i (), =# 0 Show that f(x)} is continuous at 0. I/%

1 T = U . i

(b) Is f(z) dif_ferentiable at.0?




